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1 Team A ranks 7 1 3 5 6 4 2 

Team B ranks 6 3 2 5 1 7 4 
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There exists a weak level of agreement between the performance of the teams across years. 
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12 12 1728p 3 (3 s.X = = = = ⋅0 0700 f.)  

 

( ) ( )511
12p 5 (3 s.X > = = ⋅0 647 f.)  

 

[ ] 1E pX = = 12  

 

The assumption of independence is likely to be unreasonable, since after one No. 37 has 

arrived it is probably less likely that the next bus is another No. 37. 
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( ) 7 3 16 3 9 29
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No. of students gaining a top grade …     ( )B 3,0 95464X ⋅∼

 

( ) ( ) ( )23
2p 2 0 95464 0 04536 0 124014... (3 s.f.)X C= = ⋅ ⋅ = ⋅ = ⋅0 124  

 

 

 

[4] 

 

 

 

[4] 

 

 

 

 

5 

  

 

No. of different arrangements 6!= = 720  
 
No. with vowels adjacent 5! 2= × = 240  
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length f 

0 3l≤ <  9 

3 6l≤ <  15 

6 10l≤ <  16 

10 15l≤ <  5 

15 25l≤ <  5 
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